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	Date 6-9-21

Q20 What is interacting process?
Q21 What are various operation on the   process?
 Q22 What is multi thread?
Q23 discuss the advantage of multi thread?
 Q24 Difference between process and thread?

Date 21-9-21

	Q25 Differentiate between scheduler type?
 	Q26 Explain IPC communication?
	Q27 What is critical section explain? Q28 explain in brief ‘Semaphores’? 
	Q29 explain in brief ‘Monitor’?
	Q30 What are Mutex?
	Q31 Explain structure of concurrent processor?
	Q32 Explain type of scheduler (preemptive / non preemptive)?
 	Q33 Define context switching?
	 Q34 Explain FCFS(characteristics, advantage , disadvantage, one-example)
	Q35Explain SJP(characteristics, advantage , disadvantage, one-example)
	Q38 Explain SRTF(characteristics, advantage , disadvantage, one-example)
	Q39 Explain Priority(preemptive ,non preemptive, advantage , disadvantage, one-example) .
	Q40 Explain ROUND ROBIN(characteristics, advantage , disadvantage, one-example) 
	Q41Explain multilevel queue scheduling ?
	Q42. Solve the following question given in image below:
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Q50 Draw the Gantt chart and calculate the Average Waiting Time and average turn Around Time for the following:
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Q52 Draw the Gantt chart and calculate the Average Waiting Time and average turn Around Time for the following:
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Q55 what is deadlock?
Q56 explain modelling of deadlock(RAG)
Q57 in a system the following state of processes and resources are given
P1->R1 , P2->R3 , R2->P1 ,R2->P3 ,P4->R3 ,R1->P4
Q58 In a system the following state of processes and resources are given
R1->P1, P1->R2 ,P2->R3 ,R2->P2 ,R3->P3 ,P3->R4 ,P4->R3 ,R4->P4 ,P4->R1 ,R1->P5
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Example 2.17: Gioent the following information
| Job No. Arrival Time
[
| 1 0
[
‘,‘ 2 i
! 3 2
et
2 4

() FCFS i) SJF
(i) SRT () Round Robin (tg=2)
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C ;iV(-nr the following information: [Raj. Univ. 2003(Backy

Job No.
s
2

3

Arrival Time CPU Cycle \

4

5

scheduling algorithms:
(i) FCFS
(i) SIF
(i)  SRT
(iii) RoundROu:l\ v
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221 Consider the following set of processes, with the length of CPU time given inms,

Process Burst time (T) Priority
Py 350 5
P: 125 2 A
P, 475 3 ‘
Ps 250 1
| Py 75 4 __t
All processes arrive at time 0. )

Draw four Gantt charts illustrating the execution of these processes using F

(quantum = 50) scheduling.
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: 0OS. call each of them?

to be executed by @ single

processor:

Burst Tune

o G“W
L Job Arrival Time
| 1 [ 0.0 8
|
| 2 ] 05 5
| 3 | 1.0 2
Each job runs for the listed amount of time. What is turnaround time and
for each job if no pre-emptive scheduling is used for the following:

@)  First Come First Served (FCFS).
(iv)  Shortest Job First (SJF)?

T
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Example 6.7

" Consider the following scenario of processes with time quantum = 2:

Process Arrival time Execution time
P1 " 0 °
P2 1 5
P3 2 3
P4 3 4

Draw the Gantt chart for the execution of the processes, showing their start time and end t &
using round robin schedulin, Cﬂ&wﬂm * nt;n;ll'z/‘
time for each process and average d time, a and

average waiting time for th y:
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Example 6.8
o

sider the following scenario of processes with time quantum = 93 2

[ Process Arrival time [ Execution time
P1 0 5
P2 2 3
P3 3 2
P4 5 5
Draw the Gantt chart
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ario of processes with time quantum = 4

Arrival time Execution time \

= 0 i 18 |
e 1 3
e 2 4
3 5
4 3

chart for the execution of the processes, showing their start time and end time,

. impreved R and HRRN:-seheduling. Calculate turnaround time, noswatizet-—
isime. and waiting time for each process and average turnaround time, aves3genos:
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Example 6.5

Consider the following scenario of processes:

/,Pmcass Arrival time Execution tin
P (o} r
P2 1
P3 2 4 S
P4 3

using FCFS, SPN, and
time, waiting time for €
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| Example 6.4

“Consider the following scenario of processes:

i

P1 0

P2 2

P3 3

P4 5
Draw the Gantt chart for the €xecution o;
using SPN | . Calcy
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: Consider the following four Pprocesses with the Iu;xgl/x of the CPU burst ti;
S e

Process Arrival time Bursl—timej
Py 0 8
P2 1 4
= 5 - :
Py 3 5 (¥
Example 2.13: Find out which of the following algorithms give the least average waiting time for ‘\
fhe above workload. % 9
(i) FCFS

N

(ii) RR (Slice = 4ms)

(iii) SRTF.
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Example 2.14: Consider the following setup proce

Process | Bursttime | Priority
1 10 3
2 1 1
3 2 3
4 1 4
5 5 2

arrived in the order 1,/2& 4,.
for eaclof the scheduling algoril

The processes are assumed to have
Find the turnaround tinte, waiting time,

Ans. Gantt’s Charts:
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Example following set of processes,

2.15: Consider the

Process Burst time (T)
Py 350
il 125
P2 475
s 250
[ Py 75
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Process and Threads

273

Draw four Gantt charts illustrating the execution of these processes using FCFS, SJF, a nonprimitive
priority (a smaller no. implies a higher priority) and round robin (quantum = 50) scheduling. :




image5.jpeg
TR i, g SSRGS

Example 2.16: Given below are jobs status to be executed by a single processor:

Job | Arrival Tune TimeBurst
L 0.08 8

2 0.5 5

3 1.0 2

i i iting ti hjob i
Each job runs for the listed amount of time. What is turnaround time and waiting time for each job if
.ach S
no ;w-rmpliw scheduling is used for the following:
(i) First Come First Served (FCFS).

[Raj. Univ., 2000]
(ii) Shortest Job First (SJF)?





